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od=s(ta) 143,056
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-20 Xt 26,676,000& * 29H 53,352
-1E Xt 22,176,000& » 19H 22,176
A=PN; 20,176,000& » 1H 20,176
-5 Xt 19,176,000& » 19H 19,176
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-IESE 4,320
i < Xt 40,0003 = 4% « 123 1,920
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-HEIZ2SY 346,000& = 128 » 6% 24,912
iR g
26,676,000% / 3652 * 112 * 6H 4,824
OXMHE S 208
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2 32,444
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= 52,524
1,864,300 » 1H » 48 7,458
= 7,458
417,540 400,020 17,520
e 417,540 400,020 17,520
02 &8s 417,540 400,020 17,520
O4= 400,000& = 1¥ = 123 4,800
Ob5= 250,000 = 8H = 12& 24,000
oe6= 155,000& » 64 » 12&8 119,040
o7= 140,000& = 1008 * 128 168,000
08~9= 105,000& » 62H » 128 78,120
OJls 95,000& = 3% = 123 3,420
OHAZE 105,000& = 16 » 128 20,160
Z4A0IN 1,712,201 1,563,661 148,540
303 ZA& 3 1,121,450 1,064,957 56,493
02 4&03 1,121,450 1,064,957 56,493
O EHA 1,087,350
o+ 572,800,000& * 110% 630,080
Os=Fodd 415,700,000& * 110% 457,270
oxazz 31,000,000& * 110% 34,100
04 ASRESS 590,751 498,704 92,047
02 =2AH22ES 590,751 498,704 92,047
CHLEE=RES 554,435
Ogers 19,118,435,000& * 2.9% 554,435
OFIRUYBEEZRE S 36,316
Ogers 554,435,000& = 6.55% 36,316
4l 530,245 478,188 52,057
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6,000& = 3098 » 203 3,600
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Ootl& 2= 100,000& * 30H A 300
oozt 30,0003 » 30H A 90
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OJIEZ 33,600,000 33,600
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O&sg= 50,000& * 43| 200
OREYRFLA SEHl 6,0008 » 20F * 15 1,800
202 O4dl 6,064 2,881 3,183
01 = LH 4 Hi 6,064 2,881 3,183
ORHALEZ OfH|
75,800& * 28 * 20H * 23] 6,064
405 XtatE SHI 1,000 1,000 0
02 =M=l 1,000 1,000 0
OHFNZA ZTAHFLHI 10,000& = 100& 1,000
ARSI B Hole REEER 27,508 31,892 N4,384
201 Ler24E] 27,508 26,392 1,116
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0XR7Y JI=EE L B8 3,840
Oeolstz 4,000 = 9300H 3,720
OAH&EX 6,000& » 20= 120
OHZFZANE ME2F=E 16,668
OosdX 18,0003 = 9JH At 32 * 123 5,832
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A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OEMAES BXHI 5,000& = 10,342m 51,710
oLt RIMH
1,200& = 204 = 150 3,600
Odlag &I 7 1,465
OR &l 1,860& * 50 » 50 465
O= Xl 2eldl 1,000,000& = 1CH 1,000
206 M= Hl 15,520 14,410 1,110
01 =8l 15,520 14,410 1,110
OFA2el BAES 7,200
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